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Exercise

Q.1

Q.2

Q.3

Q.4

Q.5

Q.6

Q.7

Which of the following is grown in the rainy
season?

(A) Jowar and bajra (B) Wheat

(C) Soyabean (D) Rice

Which of the following is a Rabi crop?
(A) Wheat (B) Rice
(C) Cotton (D) Jowar and bajra

The minimum wages for a farm labourer set by
the government is

(A) Rs.50 (B) Rs.60
(C) Rs.70 (D) Rs.80
HYV seeds stands for

(A) Heavy yielding variety seeds
(B) High yielding variety seeds
(C) Half yielding variety seeds
(D) None of the above

What is the main production activity in Palampur
village?

(A) Farming

(B) Animal husbandry

(C) Transport

(D) Small-scale manufacturing

Land under cultivation (in million hectares) in

India in the year 2000 was
(A) 120 (B) 130
(C) 140 (D) 150

Modern farming methods were tried in India for

the first time in
(A) Punjab (B) Western U.P.

(C) Haryana (D) All the above

Q.8

Q.9

Q.10

Q.11

Q.12

Q.13

Q.14

High yielding variety seeds (HYV) were
introduced to Indian farmers as a result of

(A) White Revolution

(B) Green Revolution

(C) IT Revolution

(D) None of the above

Which Kharif crop is used for cattle feed?
(A) Sugarcane (B) Potato
(C) Jowar and bajra (D) Wheat

The concept of White Revolution is associated
with

(A) food crops (B) milk
(C) cotton (D) pesticides

Which of the following is the main activity in

village Palampur?
(A) Manufacturing (B) Farming
(C) Transportation (D) Dairy

Production activities need various types of
resources which include

(A) Natural Resources

(B) Man made items

(C) Human effort and money
(D) All the above

Production of any type of goods or services

requires the services of factors of production.
(A) Five (B) Four
(C) Three (D) Two

The name of the small town nearest to village

Palampur is-
(A) Shahjahan Pura (B) Shivpuri

(C) Shahpur (D) Sheopur
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Q.15

Q.16

Q.17

Q.18

Q.19

Q.20

Q.21

The village Palampur has a population of about

how many families?
(A) 550 (B) 350
(C) 250 (D) 450

People of which caste live in a corner of the
village?

(A) Higher Caste (B) Middle Income Group
(C) OBC's (D) The SC's (Dalits)
Physical capital includes the

(A) Raw material and money

(B) Tools, Machines & Building

(C) Labour, Skill

(D) Both (A) and (B)

Working capital means.

(A) Working wiih capital

(B) Capital that works

(C) Raw materials and money in hand

(D) None of the above

Human Capital includes-

(A) the working population of the country
(B) All those place where human live

(C) All that capital which is produced by humans

(D) All that capital which is used in production
by only

Which of the following is not a factor of

production?
(A) Land (B) Labour
(C) Capital (D) Trading

Which of the following is a fixed factor of

production?
(A) Land (B) Labour

(C) Capital (D) Organisation

Q.22

Q.23

Q.24

Which non-farming activity is practised in
Palampur?

(A) Small manufacturing activities
(B) Shop -keeping

(C) Transport

(D) All of the above

How many people of Palampur are engaged in

non-farm activities?
(A) 10 per cent (B) 15 per cent
(C) 20 per cent (D) 25 per cent

Which types of transport are visible in the
Palampur Raiganj road?

(A) Bullock carts and Tongas
(B) Bogeys or wooden carts drawn by buffalos

(C) Motor vehicles like motorcycles, jeeps,
tractors and trucks

(D) All of the above

ANSWER KEY
1. A 2 A 3. B 4 B
5. A 6 C 7. D 8 B
9. C 10. B 11. B 12, D
13. B 14. C 15. D 16. D
17. D 18. C 19. A 20. D
21. A 22, D 23. D 24, D





